LAUNDRY SERV[CES
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1. Select the right choice and write it in the answer-book :

(255)
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Organdie is a/an
(A) cotton

(C) silk

UL Th IETEW &
(A) hied =

(C) W™ =

Cottons are damaged by
(A) acids

(C) alkali

i i afd Tgad &

(A) 3T

(C) &r
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rayon

acrylic

[ T
Ufehfeter o1

bleaches

heat
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All questions are compulsory and carry marks as indicated against each
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(i) Wool is attacked by
(A) carpet beetle (B) moth
(C) Both of these (D) None of these
F R ATHAV Fd T
(A) e size B) S
(C) =T & A (D) =T | FiE T

(iv) Acrylic is attacked by

(A) fungi (B) insect

(C) sunlight (D) None of these

Ufsrfersr W T e §

(A) we B) e

(C) Td-wFm D) T & FE T
(v)  Wool has very good

(A) absorbancy (B) elasticity

(C) resilience (D)  All of these

A U 2t B =

(A)  SFERIT T (B)  grw

(C) TR (D) T @ Tt

(vi) Before laundering clothes must be

(A) dried (B) mended

(C) ironed (D)  starched

el | TSl T A

(&) g ey (B) T T I =T

(C) sfedl a o =fen (D)  HEt (WFER) & =Ry
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(vii) Boot-polish is a type of following stain :

(A) Vegetable (B)
(C) Mineral (D)
FJe-uiterer frefafaa gs 6t Fm-dt e 37
(A) =TT (B)
(C) @ (D)

(viii) Javelle water is
(A) sodium hypochlorite (B)
(C) sodium hydrosulphite (D)
S AT 2
(A) wTifeam TEUEREe (B)
(C) wifeam BrEgrcIE (D)
(ix) Blueing is done for
(A) clean look (B)
(C) crispness (D)
&l § et = fea ST 27
() T fo@m o % fou (B)
(C) e & ferm (D)
(x)  Silk blouse is washed with
(A) handwash (B)
(C) kneading and squeezing (D)
Yarl SeATSST Rl €T ST B
(A) =T R (B)
(C) Tt IR e (D)
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Animal

Grease

ENEIEK
IRETIH

hydrogen peroxide

None of these

BIEGISH UF1ES
T ¥ I AL

whiteness

blue colouring

whdt % for
e o1 o % fog

suction

washing machine
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2. Enumerate the following :

freferfian 1 g w7 :

(a) Three ways of applying friction 3
oY 1 o fafemt

(b) Three characteristics of silk 3
Yo i i ferd

(c) Two essentials of good ironing 2
=31 3t H FI Bl TR

(d) Two techniques of application of stain removing agents 2

e e A AR 3 i ) 3 e

3. State in your answer-book whether the following statements are True (T) or
False (F) : 1x10=10

frefafad wem @ (T) 2 a1 o (F) 319t Iw-fedent # ford -

(@

(b)

()

(@)

(e)

Washing of rayon is like silk.
[ h gATE W %k F9E 2

Ball-point ink stain can be removed with methylated spirit.

ATA-TTEe Vel o edl Sl AUTEelee e o gem 51 gehdl 21

Fuller’s earth is a grease absorber.

gerart figt fosaré 1 g ot 2

Cotton has good elasticity.
FieT | GIEIAT Bt 7
Hydrophobic means water absorbent.

ZIESIhIfeh § A 2 STl - AN |
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(f) Tassar is a cultivated silk.

TR Tk H0W W 2

(g) Chlorine bleaches can be used for wool.

FAR ToisTeh 1 S=IT 3 O foram ST ekl 2|

(h) Blue is always applied in last rinse.

frat o v 3ifam R = % SeE foRan St 21

(i) Ironing coloured clothes on wrong side avoids spreading of colour.
T @ T 3ot AR 3feadt o @ @1 7 Herar |

()  Alkali soap is used for washing of woollen.

T TG T TN St F@ il gt o forg forem a2

4. Discuss the properties of rayon and their effect on its care and maintenance. 2%

[T & dedl o1 09 TH TH1 & T@-TGTd U 9T T 39k AT o6 919 H |

5. What precautions should be taken during laundering of silk? 2%

[ T YATE o G0 Toh STal o1 €A T AT ?

6. List different types of laundry units and discuss their characteristics briefly. 2%

YATE THISAT oh [IT9H TR ol Felag i Td 3T foRIwareti 1 aui & |

7. Describe the procedure for laundering dark coloured cotton article. 2%

T 1 AT T T A e ) wE  a w
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